(* MATRI Cl x)
(* SOLUZI ONE SI MULTANEA DI n SI STEM )

Cl ear [x1, x2, x3];

aa = {{2, -1, 3}, {-2, 3, -1}, {3, -2, 2}};

bl=(1, -2, -1};

b2 = {2, 0, -1};

b3 ={-1, 2, 2};

bb = {b1, b2, b3};

b = Transpose[bb];

abl = {Joinfaa[[1]], {b1[[1]1}], Join[aa[[2]], {b1[[2]1]1}], Join[aa[[3]1], {P1[[3]1}1};
ab2 = {Joinfaa[[1]]1, {b2[[1]]}], Join[aa[[2]], {b2[[2]1]1}], Join[aa[[3]1], {b2[[3]1}1};
ab3 = {Join[aa[[1]], {b3[[1]]}], Join[aa[[2]], {b3[[2]]}], Join[aa[[3]], {b3[[311}1};
Mat ri xFor m[abl]

Mat ri xFor m[ab2]

Mat ri xFor m[ab3]

Mat ri xFor m[b]

2 -1 3 1
-2 3 -1 -2
3 -2 2 -1
2 -1 3 2
-2 3 -1 0
3 -2 2 -1
2 -1 3 -1
-2 3 -1 2
3 -2 2 2
1 2 -1

-2 0 2

-1 -1 2

ab = {Joinfaa[[1]], b[[1]1], Join[aa[[2]], b[[2]1], Join[aa[[3]], b[[3111};
Mat ri xFor m[ab]

2 -1 3 1 2 -1
-2 3 -1 -2 0 2
3 -2 2 -1 -1 2

(* I NVERSA DI UNA NMATRI CE =)

Cl ear [ab, b]

b ={{1, 0, 0}, {0, 1, 0}, {0, O, 1}};

Mat ri xFor m[b1;

ab = {Joinfaa[[1]], b[[1]1], Join[aa[[2]], b[[2]1], Join[aa[[3]], b[[3]111};
Mat ri xFor m[ab]

2 -1 3 100
-2 3 -1 010
3 -2 2 001

abl = {ab[[1]], ab[[1]] +ab[[2]], 3*xab[[1]]-2%ab[[3]]1};
Mat ri xFor mfabl1]

2 -1 310 O
0 2 211 0
0 1 530 -2
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ab2 = {abl[[1]], abl[[2]], 2%abl[[3]] -abl[[2]1]1}; (* Elim naz.

Mat ri xFor m[ab2]

2 -13 1 0 O
0 2 21 1 O
0O 0 8 5 -1 -4

x31=5/8;
x21 = (1-2%x31) /2;
x11 = (1 -3 %x31 +x21) /2;

x32=-1/8;
X22 = (1 -2%x32) /2;
x12 = (0 -3 %x32 +x22) /2;

x33=-1/2;
x23 = (0-2%x33) /2,
x13 = (0 -3 %x33 +x23) /2;

ai nv = {{x11, x12, x13}, {x21, x22, x23}, {x31, x32, x33}};
Mat ri xFor m[ai nv]

Mat ri xFor m[l nver se[aa] ]
Mat ri xFor m[Dot [aa, ai nv]]

1 1

2 2 1

151
8 8 2
51 1
8 8 2
1 1

2 2 1

151
8 8 2
5 1 1
8 8 2

o O -
o - O
= O O

Gaussi ana *)



